







STAFF TIMESHEET (March 2021)

Name of the staff	Seda YETİMOĞLU
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Countr y Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Num ber of days	Daily cost	Total Amount
TR	04.03.2021	IO1	Working on the design of the GEO DEMA APP.	1	74 €	74 €
TR	08- 09.03.2021	IO1	Working on the multilingual interface of GEO DEMA APP to create a mobile content generation in the native language facilitating its use for the visitors improving the user experience.	2	74€	148€
TR	11.03.2021	IO1	Working on generating a Seamless integration of the tourism ecosystem to deliver a new mobile experience involving the educational sector and citizens to co- create a unique mobile experience to attract new visitors.	1	74€	74€
Total number of staff day				4		296€









Dr. Kevser Çınar Authorised person



Bunner







STAFF TIMESHEET (February 2021)

Name of the staff	Seda YETİMOĞLU
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Countr y Code	Date (dd/mm/yyyy)	Activity Intellectua I Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Num ber of days	Daily cost	Total Amount
TR	08.02.2021	IO1	Doing research on how to mapping citizens and visitors' emotions in terms of smart city concept.	1	74€	74 €
TR	09-10.02.2021	IO1	Doing research on how to mapping citizens and visitors' emotions in terms of smart city concept.	2	74€	148€
TR	11.02.2021	IO1	Working on preparing the user needs analysis survey.	1	74 €	74 €
Total number of staff day				4		296 €









11/02/2021

Dr. Kevser Çınar Authorised person



11/02/2021

Bunner

















STAFF TIMESHEET (October 2021)

Name of the staff	Seda YETİMOĞLU
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.10.2021	IO1	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74€	148€
TR	11-12.10.2021	IO1	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74€	148€
TR	18-19.10.2021	IO1	App Interface customization in Turkish language.	2	74 €	148€
Total number of staff day				6		444 €









Dr. Kevser Çınar Authorised person



Domments









STAFF TIMESHEET (May 2021)

Name of the staff	Seda YETİMOĞLU	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentimen of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	05-07.05.2021	IO1	Analysis of the user needs survey data (Geo-Dema App)	2	74€	222€
TR	10-11.05.2021	IO1	Working on the production of the multilingual interface of Geo-Dema App to create a mobile content generation in the native language facilitating its use for the visitors improving the user experience.	2	74€	148€
TR	17-19.05.2021	IO1	Introduction of the App interface and sharing stories to the users for the pilot test.	2	74€	222€
Total number of staff day				6		444 €









Dr. Kevser Çınar Authorised person



Summer









STAFF TIMESHEET (January 2021)

Name of the staff	Seda YETİMOĞLU
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher
Project Number	2020-1-TR01-KA203-092920
Project Name	SMART Tourism Destination increasing citizen's sentiment of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA
Name of the organization	Necmettin Erbakan University

Countr y Code	Date (dd/mm/yyyy)	Activity Intellectua I Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Num ber of days	Daily cost	Total Amount
TR	06.01.2021	IO1	Working on the design of the GEO DEMA APP. Planning every step carefully through bilateral meetings with the partners	1	74€	74 €
TR	07-08.01.2021	IO1	Working on the design of the GEO DEMA APP. Planning every step carefully through bilateral meetings with the partners	2	74 €	148€
TR	09-10.01.2021	IO1	Defining the user journey on the mobile. Working on the App features. What the App will do? How users will be able to use it? For what purposes?	2	74€	148€
TR	11.01.2021	IO1	Defining the user journey on the mobile. Working on the App features. What the App will do? How users will be able to use it? For what purposes?	1	74€	74€









444 €

6

Total number of staff day

-11.01.2011

Seda YETİMOĞLU Researcher

Comments

















STAFF TIMESHEET (April 2021)

Name of the staff	Seda YETİMOĞLU	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentimer of sharing local tourism related values through gamificatio using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Countr y Code	Date (dd/mm/yyyy)	Activity Intellectua I Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Num ber of days	Daily cost	Total Amount
TR	05-06.04.2021	IO1	Analysis of the user needs survey data (Geo-Dema App)	2	74€	148€
TR	08-09.04.2021	IO1	Analysis of the user needs survey data (Geo-Dema App)	2	74€	148€
TR	15-16.04.2021	IO1	Working on the multilingual interface of Geo-Dema App to create a mobile content generation in the native language facilitating its use for the visitors improving the user experience.	2	74 €	148€
TR	20-21.04.2021	IO1	Writing the report of the Geo- Dema App survey	2	74€	148€
TR	29-30.04.2021	IO1	Writing the report of the Geo- Dema App survey	2	74€	148€
Total number of staff day				10		740 €









Dr. Kevser Çınar Authorised person

Bunner









STAFF TIMESHEET (July 2021)

Name of the staff	Seda YETİMOĞLU	
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher	
Project Number	2020-1-TR01-KA203-092920	
Project Name	SMART Tourism Destination increasing citizen's sentimen of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA	
Name of the organization	Necmettin Erbakan University	

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	01-02.07.2021	IO1	Story channels are being started to be created by the people who writes the stories and they pre-defined in the APP based a survey conducted where 500 answers were collected	2	74€	148€
TR	05-06.07.2021	IO1	Producing the multilingual language interface of the APP.	2	74 €	148€
TR	12-13.07.2021	IO1	Doing research about Sentiment Analysis.	2	74€	148 €
TR	19-20.07.2021	IO1	Preparation of the training how to generate thematic maps based on the story collection, insights into the stories given by the visitor and other data like tags, metadata, the number of visitors and timing	2	74€	148€
TR	26-27.07.2021	IO1	Preparation of the digital Storytelling training program to understand how to design and create Mobile-based stories named webisodes	2	74€	148€









Total number of staff day

03/11/2021

Seda YETİMOĞLU Researcher

Bunning

03/11/2021

740€











STAFF TIMESHEET (September 2021)

Name of the staff	Seda YETİMOĞLU		
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher		
Project Number	2020-1-TR01-KA203-092920		
Project Name	SMART Tourism Destination increasing citizen's sentim of sharing local tourism related values through gamificat using emerging mobile Apps and SMALL Data analysis SMARTDEMA		
Name of the organization	Necmettin Erbakan University		

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	06-07.09.2021	IO1	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74€	148€
TR	09-10.09.2021	IO1	Ideation, design, prototyping and iterating the stories to deliver a new mobile destination experience.	2	74 €	148€
TR	13-14.09.2021	IO1	App Interface customization in turkish language.	2	74€	148€
TR	20-21.09.2021	IO1	Preparation of the training how to generate thematic maps based on the story collection, insights into the stories given by the visitor and other data like tags, metadata, the number of visitors and timing	2	74€	148€

NITUN NECH	ERATORY STATE	Erasmu	-funded by the s+ Programme uropean Union	REPUBLIC MINISTRY OF	OF TURKEY	
TR	27-28.09.2021	IO1	Preparation of the digital Storytelling training program to understand how to design and create Mobile-based stories named webisodes	2	74€	148€
Total number of staff day				10		740€

03/11/2021

Seda YETİMOĞLU Researcher

Summer

03/11/2021











STAFF TIMESHEET (June 2021)

Name of the staff	Seda YETİMOĞLU		
Category of the person: Researcher/Teacher/Trainer or (please select one)	Researcher		
Project Number	2020-1-TR01-KA203-092920		
Project Name	SMART Tourism Destination increasing citizen's sentimer of sharing local tourism related values through gamification using emerging mobile Apps and SMALL Data analysis- SMARTDEMA		
Name of the organization	Necmettin Erbakan University		

Country Code	Date (dd/mm/yyyy)	Activity Intellectual Output number	Description of Activities (Activities refers to the Tasks listed in the IO)	Numb er of days	Daily cost	Total Amount
TR	01-02.06.2021	IO1	The creation of the digital stories, the App content management of the digital stories	2	74€	148€
TR	03-04.06.2021	IO1	Doing research on the training how to generate thematic maps based on the story collection, insights into the stories given by the visitor and other data like tags, metadata, the number of visitors and timing	2	74 €	148€
TR	07-08.06.2021	IO1	Doing research about SMARTDEMA training program	2	74€	148€
TR	09-10.06.2021	IO1	Understanding the Apple Store and Google play rules on designing the App	2	74€	148€

AND AND AND AND AND AND AND AND AND AND	R R R KAN	Erasmu	-funded by the s+ Programme uropean Union	R E P U B L I C MINISTRY OF J	OF TURKEY	
TR	12-13.06.2021	IO1	Doing Research about the digital Storytelling training program to understand how to design and create Mobile- based stories named webisodes	2	74€	148€
Total number of staff day				10		740€

Seda YETİMOĞLU Researcher

Summer

تعلله

